
PROSYSTEM ITALIA SRL
Via Friuli venezia Giulia, 15 P.IVA 03470750278
30030 Pianiga - Venezia - Italy Reg.Imp. Ve 03470750278
T +39.041.510.1622 Cap.soc. € 90.000,00
F +39.041.5131351 REA Padova n° 311219

info@prosystemitalia.com
prosystemitalia.com

1

BLOCKSET BPS CC 27 - prosystemitalia.com

BLOCKSET  BPS  CC  27

A P P L I C A T I O N

Quick-installation element for efficient mounting of pipe clamps and other components to Channels
27/27 and 27/15.

Advantages:

- Time-saving due to a pre-assembled Blockset consisting of 4 individual parts;

- Easy height adjustment within the channel;

- Retains position in horizontal and vertical channels during locational adjustment. But still can be
moved easily and freely along the channel as required;

- Grooved rod, prevents unintended unscrewing;

- Easy cutting of the grooved rod - cutting grooves every 10 mm using Rod Cutter PBC 1.

 

S C O P E  O F  D E L I V E R Y

Completely pre-assembled (block with holding bracket, grooved rod and nut).

 



PROSYSTEM ITALIA SRL
Via Friuli venezia Giulia, 15 P.IVA 03470750278
30030 Pianiga - Venezia - Italy Reg.Imp. Ve 03470750278
T +39.041.510.1622 Cap.soc. € 90.000,00
F +39.041.5131351 REA Padova n° 311219

info@prosystemitalia.com
prosystemitalia.com

2

I N S T A L L A T I O N

Insert the Blockset into the channel, then tighten the nut to 10 Nm - That's it!

 

T E C H N I C A L  D A T A

Max. working load:

- Fz = 1,5 kN

- Fx = 0,8 kN

- Fy = Permissible lateral force at the end of the grooved rod

Type[mm] L [mm] Fy

M8 x 35 35 75

M8 x 75 75 35

M8 x125 125 20

M8 x 175 175 -

M8 x 275 275 -

 

Material:Steel, electro-galvanised.

Codice Nome Peso Numero di pezzi

195888 M8 × 35 mm 0.04 100

195895 M8 × 75 mm 0.05 100

195901 M8 × 125 mm 0.06 50

195918 M8 × 175 mm 0.07 50



PROSYSTEM ITALIA SRL
Via Friuli venezia Giulia, 15 P.IVA 03470750278
30030 Pianiga - Venezia - Italy Reg.Imp. Ve 03470750278
T +39.041.510.1622 Cap.soc. € 90.000,00
F +39.041.5131351 REA Padova n° 311219

info@prosystemitalia.com
prosystemitalia.com

3

Codice Nome Peso Numero di pezzi

195925 M8 × 275 mm 0.1 -


